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1.  “Book’ is related to ‘Publisher’ in the same
way as ‘Film’ is related to

(A) Writer (B) Editor
(C) Director (D) Producer

2. ‘Iran’ is related to ‘Tehran’ in the same

way as is related to Tokyo.
(A) Japan (B) Taiwan
(C) Mongolia (D) Thailand

3. ‘Country’ is related to 'President’ in the
same way as ‘State’ is related to

(A) M.P. (B) Legislator
(©) Governor (D) Minister

4. ‘Eye’isrelatedto’ " in the same
way as ‘Teeth’ is related to ‘Pyorrhoea’.
(A) Myopia (B) Eczema
(C) Scurvy (D) Malaria

5, ‘Scales’ are related to ‘Fish’ in the same

way as is related to ‘Man’.
(A) Fur (B) Bark
(C) Skin (D) Dress

6. BEGKisto ADF] as PSVY is to

(A) ROUX (B) ORUX
(C) LQUT (D) LOQT

7. AZBY is to CXDW as EVFU is to

(A) GTHS (B) GHTS
(C) GSTH (D) TGSH
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‘qee’a ‘gelee’ Afe 6aRad A9,

‘derdl’q qe 6929Q Qa9 |
(A) 6ee (B) Qaiee
(C) &feRae (D) @diol

‘[’ ‘66217 AT0 6URAR AT,
Q ‘6016’ d2 6ARaf A°aS |

(A) Q@R (B) QIQGIQ

(©) oeai@a (D) giomig

‘6ed’a ‘Q1gad’ afe 60Q98 ae,

‘geadIa de 6d929@ Qae |
(A) Qrge (B) Quae

(C) QiR (D) @q1

g Q20 6aRaR I°94, FIea
diede 9fe 6dRad a°ae |

(A) amaed (B) g«

(C) Qeed (D) qieRdel

QIeQ fIg 986 AVl Aaa,

Q 18y Q8o 6ATTR AaQ |

(A) Qf (B) 8@
() eod (D) eaIgIQ

BEGK @ ADFJ] Q8¢ 699@ °9e, 63808

PSVY @ d80 69998 Q0 |
(A) ROUX (B) ORUX
(C) LQUT (D) LOQT

AZBY @ CXDW 480 6098 Q°ae, 6389

EVFU @ qeQ 6d0ad Qraq |
(A) GTHS (B) GHTS
(C) GSTH (D) TGSH
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8. 16 is to 56 as 32 is to

(A) 96 (B) 112
(C) 120 (D) 132

9. 4isto19as 7 is to

(A) 69 (B) 66
(C) 49 (D) 52

Direction for questions 10 to 14 :

letter in the given series.

10. 1,6, 13, 22, 33, :
(A) 47 (B) 46

(C) 39 (D) 44

11. 17, 19, 23, 29, , 37
(A) 31 (B) 33
(C) 35 (D) 36

12. AD, EH, IL, , QT
(A) NQ (B) MO
(C) MP (D) OR

13. VI, XV, VIL, X, VIIL V,
(A) VI (B) IX
_(©) VI (D) IV

14. a_aba__ba__bab
(A) bbaba (B)
(C) abbab

babab
(D) baabb

16 @ 56 980 6908 A, 6aBAR 32 @
Q2o 6aFaR oS |

(A) 96 (B) 112

(C) 120 (D) 132

4Q 19 Q80 60ad <<, 6afad 7 @
Ao 6QR0d QaQ |

(A) 69 (B) 66

(C) 49 (D) 52

| 9q @@y 10 - 14 oIS Gedanem :
Fill in the blanks with the appropriate number/ -

QAYS A°YI/AFQ QIR FAILIRYR AN
JURIe ged QQ |

{ 10.

1 11.

12.

13.

14.

1, 6, 13, 22, 33, .
(A) 47 (B) 46

(C) 39 (D) 44
17, 19, 23, 29, , 37
(A) 31 (B) 33
(©) 35 (D) 36
AD,EH,IL, ____ ,QT

(A) NQ (B) MO
(C) MP (D) OR

VI, XV, VII, X, VIIL V,
(A) VI (B) IX
(©) VI (D) IV

a_aba__ba__bab
(A) bbaba (B) babab
(C) abbab (D) baabb
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Direction for questions 15to 18 : - | 99 QoI 15 - 18 AIQ FeINSR1 :
Find the wrong number/letter in the following | Qg0 ARSIER aa! 9m HYI/2[0T QI |
series. ' ‘
15. 15, 14,17, 15, 19, 16, 21, 17, 23, 25 15. 15,14, 17, 15, 19, 16, 21, 17, 23, 25
A) 19 (B) 25 (A) 19 (B) 25
© 23 (D) 17 (C) 23 (D) 17
16. 5,8,3;8,12,4,7,13,6,7, 15,9 16. 5,8,3;8,12,4;7,13,6; 7, 15,9
(A) 15 5 (B) 13 (A) 15 (B) 13
() 12 (D) 5 € 12 (D) 5
17. 3,6, 10,15, 21, 28, 35, 45, 55 . 17. 3,6, 10, 15, 21, 28, 35, 45, 55
(A) 55 (B) 21 (A) 55 (B) 21
(C) 35 (D) 10 (C) 35 (D) 10
18. M,P,K,RLU,G,V,E X 18. M,P,K,R I U,G,V,E X
(A) V (B) U (A) V B) U
€ 1 (D) X € I D) X
Direction for questions 19 to 23 : gq e 19 - 23 AIQ FEIANIR1 :
Find the odd one out. a9 ARiAIeE0Iq &R, 0Ig QIS |
19. (A) Abdul Kalam 19. (A) 29QR QIf
(B) Pranab Mukherjee (B) 949 qaILT
(C) Manmohan Singh (C) eeeqies dg
(D) Ramnath Kobind (D) QIIRIg 6199
20. (A) Goa 20. (A) el
(B) Puducherry (B) geeeal
© (C) Ladakh (C) @9
(D) Lakshadweep , (D) @EIQIe
21. (A) 3,69 (B) 15,18, 21 21. (A) 3,6,9 (B) 15,18, 21
(©) 27,30, 33 (D) 39, 40, 42 (C) 27, 30, 33 (D) 39, 40, 42

SMM-1-2019-20



22.

23.

(A)
(©

(4)
(©)

73 — 61 (B) 69 — 57
42 - 29 (D) 59 — 47
PRT (B) GEC
MOQ (D) TVX

Direction for questions 24 to 28 :

In the following questions four pairs of words

are given. Which of the pairs of words is not
like the other three ?

24.

25.

26.

27.

28.

(A)
©)

(A)
(B)
©)
(D)

(A)
©)

(A)
(B)
(©)
(D)

(A)
(B)
(©)
(D)

Big - Small (B) Book - Pen

Above - Below (D) Rich - Poor
Shopkeeper - Customer

Lawyer - Client

Doctor - Patient

Clerk - File

Tongue - Taste (B)
Ear - Deaf

Eye - Blind
(D) Leg-Lame

Volume - Litre
Time - Second

Pressure - Barometer

Length - Meter

Dog - Bitch
Cow - Calf
Insect - Larva
Mother - Child

22.

23.

(A)
(©

(A)
(©

73 — 61 (B) 69 — 57
42 - 29 (D) 59 — 47
PRT (B) GEC
MOQ (D) TVX

gé QY 24 - 28 AIR FERENR1 :

@¢ 9990a6a 6a6e6aIT FR6QIE ARG |
6QCIRE C1IQ 6@ dNEAIFE AARFOIR &R,
Qg2 |

24.

25.

26.

27.

28.

(A)
©)

(A)
(B)
©)
(D)

(A)
(B)
(©
(D)

Q@ - 63I¢ (B) QF - Q¢
QJQ - OF (D) Q1 - @QQ
CRIRR - SIS

GaAM - (2R

0@ - 6quaN

QS - @8 (TaR)

&2l - QI (B) ag - ae
Qe - QIR (D) 6QlIQ - 68161

ZINeR - MO

AqI - 626G
QYOI - AT
6agy - feq

Q99 - QO
QIR - QIga!
@16 - QUL
Qe - ag
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29.

30.

31.

32.

33.

In a code language, MONKEY is written
as LNMJDX. How is TIGER written in that
code ?

(A) QDFHS (B) UJHFS

(C) SDFHS (D) SHFDQ

If 768123 = PRINCE and 281345 =
CINEMA, then 1823 =?

(A) NICE (B) RICE

(C) CINE (D) PINE

If AIR is called WATER; WATER is called
SKY; SKY is called RAIN; and RAIN is
called DUST, where does fish live in ?

(A) WATER (B) DUST

(C) SKY (D) AIR

In a coded language, ‘367" means ‘Boys are
good’; ‘748" means ‘Ravi is good” and 459
means ‘Tutu is bad’. Which digit means
‘Ravi’ in that code ?

Aa) 3 (B) 4
< 7 (D) 8
If“ +’ becomes ‘' —’; ‘—’ becomes ‘X’ and

‘%’ becomes ‘ +’, what is the value of
12+(3—2) %2 ?

(A) 4 (B) 8

©C) 6 (D) 10

SMM-1-2019-20

29.

30.

31.

32.

33.

e 68 UFIee MONKEY @ LNMJDX

SR | 699 @Igi6a TIGER @49
CaMES ?

(A) QDFHS (B) UJHFS

(C) SDFHS (D) SHFDQ

_ﬁ@ 768123 = PRINCE 9@° 281345 =

CINEMA, 6962 1823 =?

(A) NICE * (B) RICE

(C) CINE (D) PINE

A3 QIgq 918 RIAN, AIdg ARG QRIAN,
2AQag edl QRIAIN, 19 QdIg Y& LA,
6069 ¢lig 6990 Q6L ?

(A) aié (B) Y&

(C) aRNE (D) <Ug

9@ SR NUTER ‘367 Q U ‘QURAER
o, ‘748'Q e ‘@8 an &6’ 99° 459 @
2d §F ¢QId 26E | I8 NITIER 6Q6 AT
Q 28 @@ ?

(A) 3 (B) 4

©C) 7 (D) 8

95+ QAIER — 29—’ QIR ‘ X’ 9.
‘%’ @ Q6! ‘+ 249, 686@ 12+(3—2) %2
Q R4 6@68 ?

(A) 4 (B) 8

© 6 (D) 10




Direction for questions 34 to 41 :

In the following questions which number will

replace the question mark ?

35.

36.

37.

(A) 36 (B) ”:9

(C) 25 (D) 64
3 6 8
8 20
?
(A) 28 (B) 22
©) 11 (D) 14

In a series of 5 consecutive numbers, the
product of the 2" and 4th numbers is 48.
The average of these five numbers is equal
to:

(a) 9 (B) 8
© 7 (D) 6

1
The heights of five boys are 60-2- inches,

2 5 4
605 inches, 60 o inches, 60; inches and

3 ., ) )
60; inches. If they stand in a line

according to their heights, what will be

height of the middle boy ?
1 2

(A) 605 inches (B) 605 inches
4 3

(©) 60§ inches (D) 6OZ inches

g9 Qs 34 - 41 QIR FERAXR :
2¢ 9996260 ggoe AAREH 6QQ A e ?

34.

35.

36.

37.

(A) 36 (B) 9.
(C) 25 (D) 64
3 6 8
8 20
?
(A) 28 (B) 22
©) 11 (D) 14

dIred @fi@ Q°@y gl 9@ AIREIER 2 & 9Q°
4 g IR GITP 48 6T | AW IR
QIAULAR 660 6297

(A) 9
< 7

(B) 8
(D) 6

1
dreed QR Q99 Qe 605 2°Q,

4

2 5
60— qQ° 60— @° 60
3 ®°Q, Ko, 5

p R0, 9
3 ~ -
602 R°C. 1 99 6QAER RSS! APAIER 61T

AIPea D2l 9218, 6060 AZ6a B2l 62IRAR
QS a9ol 6060 ?

1 2

(&) 605 arq (B) 605 arg
2 3
4 3

©) 60 arQ (D) 60 o
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38.

39.

40.

41.

Four tables and nine chairs cost as much
as six chairs and five tables. The ratio of
the cost of a chair to that of a table is :

(A) 4:3 (B) 3:4
<© 1:3 (D) 2:3

A person crosses a 600 m long street in
5 minutes. What is his speed in km per
hour ?

(A) 3.6 (B) 7.2
(C) 8.4 (D) 10

If February 1, 1996 is Wednesday, what
day is March 3, 1996 ?

(A) Monday (B)
(C) Saturday

Sunday
(D) Friday

Find out the angle between minute and
hour hand when time is 4 : 40.

(A) 90°
(C) 105°

(B) 100°
(D) 120°

Direction for questions 42 to 45 :

Choose the mirror image of the given

combination/ figure.

42.

GEOGRAPHY

(A) YHIASDOTO
(B) YHPARGOEG
(©) XHYIASID0FO
(D) YHIVIDOHD
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38.

39.

40.

41.

QIRT 60QR 9Q° FEUC ce@a I 690Q,
22T 9@@ 49° AIred €oeRa QIF 695G
UES | 66T 0a@ 99 661G 669N AR
ARG 6Q60 ?

(A) 4:3 (B) 3:4
<© 1:3 (D) 2:3

@66 6RAIQ 600 fioq QIAg 5 frcea aid
@6 | QIR 690 QY G 660 Pefoq ?

(A) 3.6
C) 8.4

(B) 72
(D) 10

99 1996 (1321 6IQAUIR A1AQ 1 VIR QU
24, 606@ 692 @d cIF 3 OIAd QY QIR
62Q ?

(A) 6dIAAQ (B)
(©) 4afQa

QIR
(D) g@Ia

AQI6R 4 : 40 QPY IAAER ALRY 9°
Fec @9l 9Q9q A8 6@6Q @o1 6118
*fgce, fda ea !
(A) 90°
(C) 105°

(B) 100°
(D) 120°

g9 Q@I 42 - 45 AIQ FEREIR :
o8 A°6ANR 4Eea @dd goda Qg |

| 42.

GEOGRAPHY

(A) YHIASDOHD
(B) YHPARGOEG
(©) XHIASIDOED
(D) YHIVIADOTO



43,

44.

45.

46.

47.

10

qutubgarh

(A) putudgsid (B) dmmpSyip
(©) hragbutuq (D) disgduiup
1965INDOPAK

(A) JATOAUIR96L
(B) gAdIVAOIeaa
(C) xAaqoamizesr

(D) AJOAUIZSRI

—>

>0

=lli=S

(A) (B

S=E=

L

© D)

Pointing to a man in a photograph Sonu
said to Guddi, “His mother is the only
daughter of your father.” How is Guddi
related to the man in the photograph ?

(A) Sister (B) Mother
(©) Wife (D) Daughter

A woman introduces a man, “The father
of his brother is the only son of my
mother.” How is the man related to the
woman ?

(A) Brother (B)
(©) Nephew

Son

(D) Cousin

43.

44.

45.

46.

47.

qutubgarh
(A) puiudgsid (B) dmnpSyip
(€) hragbutuq (D) disgduiup
1965INDOPAK
(A) JMA90AUIR96!
(B) 9AMIVAOICdE
(©) JMA90AMIeedL
(D) XAd9o0dwuicser
»\
-« / ¢
sl lE=]==
(A) (B) ©) (D)

6417 W64 ENIRT TEEIQ QYR gEQ PR,
“9® SR Q12 QO QISR 9RAIe 38
g8 T6I6R AR EAIRTA Q¢ 629 ?

(A) Q@4 (B)
Q) @1 (D)

a1/
gz

268 d1 6AIR @68 NBFQ QoY IRAR
6Q6m - ‘“NRIGQ VASQ AA 691 ISR
9RAIg 927’ BRI U1 RIeTa AHGER
@ 6269 ?

(A) R (B)
(© <«

qe
(D) Qadaxl
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48.

49.

50.

51.

(c) Gaining health (d)

Iron is heavier than copper. Copper is
heavier than silver. Silver is lighter than
gold but heavier than aluminium. Which

is the lightest ?
(A) Silver (B) Gold
(©) Aluminium (D) Copper

A is greater than B but less than C. C is
greater than D but less than E. If B is
greater than D, then who is the smallest ?

(A) A (B) B
© C (D) D

Write the following words in a correct

sequence :

(@) Rainbow (b) Rain

(c) Sun (d) Happiness
() Children

(A) (@), ®), () (e) (a)

(B) (d), (¢) (@), ®). ()
© ®) @), (@ @) E
(D) ®), () @) () (@)

What is the correct sequence of the
following events ?

(@) Doctor (b) Game
Dressing
(¢) Harm (f) Accident
(A)  ®) ) @), @ @) ©

(B) (@), (), () (d) (e). (B

©) @ @) (), (d), ®) ()

(D) (), (e) @), (), @), ()
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48.

49.

50.

51.

QEI GARIOIY AN BT | 07l QAIOI] 2R
6RA2 | QA RI0IQ QR AIg AIYARAA
Olg 2@ BLGA | AQ0Ig YS! &9 ?

(A) q@l (B)
(C) axfitan

gel
(D) oA

A,BOig 99 AIg C oig QR | C, DOIg
Q9 q1Q E 01Q Q9 | 94 B, D 0IQ 99, 6069
aQoiq QAIe &7

(A) A (B) B

€ C (D) D

Rqea daIKIRA 99E] @ adgd a6
QAR 6 |

(@) eQuY () <dl
© edv (@ 94
(e) dauqlee

(A) (@) (®) () () @)
(B) (@), (e). (@), ®). ()
©) ®), (@), (d), () ()
(D) (), () @) (). (d)

foea duaalyel deqfea ade 4
ead |

(@) @8] (b) 6%
() 99 emeeel (d) &S@al
(e) @9 () Qdeql
(A) (), (). (@), (@) (@), (9)

(B) (@), (). (), (@) (e). (F)
©) @) @) (©, (d) b) ()
(D) (). (e), (@), (). (@), B
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52.

53.

54.

55.

56.

12

In a group of 55 students Ashu’s place in
ascending order is 36. What will be his
order in descending order ?

(A) 19 (B) 20
) 21 (D) 22

In English alphabet, which letter is 9t to
the right of eleventh letter from the left ?

(A) S (B) T
€ R (D) P

In a class of 60, the number of boys is twice
that of girls. A girl named Bina ranked
15 from the top. If there are 9 boys ahead
of Bina, how many girls are after her in
the rank ?

(A) 14 (B) 15

€ 13 (D) 26

How many 8's are there in the following
sequence which are immediately preceded
by 6 but not immediately followed by 5 ?

685785436819854682968136
8536

(A) Seven (B)
(©)

Five

Four (D) Three

Sonia starts from a point X and walks
2 km towards North, and then turns right
and walks 2 km. After this again she turns
right and walks 1 km. In which direction
is she moving now ?

(A) East (B)
(C) North (D)

West
South

52.

53.

54.

55.

56.

55 @€ QIgw U6 2Iga AL onIQ 36 |
QAAUIL I AR 6R6Q ?

(A) 19 (B) 20
C) 21 (D) 22

QUL AFARQ UAAIQ YRS UFAQ
QIR ¢ UIRT @4 ?

(A) S B T
© R (D) P

60 @61 AR N 9L 64416 YA Ayl ST
QIR Q@ Gél 1 4l QIE1 AP ARG
T°eR4E LIRER QBRI | IS 654166 @14l RUER
9 @6 GG, 6069 O B6R 6RO V& 2l
aes ?

(A) 14 (B) 15

(C) 13 (D) 26

FIAYS AQE6Q 6260IT 8 AT, QeI OR
99q 6 28 Aig O 96a 5 @ ?

685785436819854682968136
8536

(A) Qe (B)
©) <@ (D)

are
o8

6QIG2I X 019 2ee Fo6a 2 &@.8. oIdel
deq LIRIg QR 2 @.8. SRl | IR
64 gEid6R QIR QR 1 8.8, cIRal | QeIe
64 694 Q96 QIQE ?

(A) qe (B)

adla
Q) @eaa (D) <84
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57. Rahulstarted early in the morning to move
on the road 15 meters towards sun. Then
he turns left and moves 12 meters. Then
he turns right and moves 10 meters. In
which direction is he now from his initial

position ?
(A) North (B) North-East
(C) East (D) South-East

Direction for questions 58 - 62 :

Choose the one from diagram given below that
depicts the correct relationship among the
item-group. '

O
O
@ 00 @V
1) 2 3 4) &)

58. Ornament, Gold, Silver
Ay () B )
< 3 D) 2

59. Vertebrates, Non-vertebrates, Living-

beings
(a) @) (B) (2
© 6 D) @

60. Women, Sisters, Wives
@A @ (B) (4
© 6 O @

61. Zinc, Copper, Iron
(A) ©) (B) )
© @ D) 4

SMM-1-2019-20

57. Q2R 919seieca gdig e @& 15 §.
L QlAml | 2196 6Q QIIQ 9R 12 4. cIRal |
qRIT6R 6d QP18 QR 10 7. QIARI | QAR

6d 9I9 €@ TR 689 IR SIRd ¢

(A) @Qa (B) @ea-ge
© 99 - (D) <@84-99

g4 sl 58 - 62 AR §séﬂ|@<§1 :
RFRYe Seres Mg QALK QUQANAILS
qrIeq 0K AR Q6 IRAUR 995 QI |

@
O
o) €9 b aw

“m o e @ 6

58. ¢l24l, Qf, 9@l
(A) ©) B) )
© G D) @

59. 60QQal, UCAQQE!, AW

(A @ (B) (2
© G (D) )

60. 2@, a1, AN
A) () (B) 4
© ) D) (2

61. oW, 0°l, Q2

(4 O (B) )

© @ (D) )

13




62. Darjeeling, France, India
(A B) @)
© @ D) @

Direction for questions 63 - 68 :

In the following figure, circle represents Literate,
triangle represents Unemployed.and §quare
represents Villagers. Study the Qi?gram
carefully and answer the following questions :

o o UnmPI@ed S
15

12/4)10
8 9

20

|_~Villagers

Literate

63. Total no. of villagers is
(A) 20 (B) 43
(©) 39 (D) 24

64. Total no. of unemployed literates who are
not villagers is

(A) 8 (B) 4
C) 12 (D) 10

65. No. of villagers who are illiterate and
unemployed is

(A) 10 (B) 4
€ 9 (D) 20

66. Total no. of illiterate villagers who are
employed is
(A) 10 B) 9
< 8 (D) 20

14

P

QURA, IR, NS
A) (5) (B) (3
O @ O @

62.

e~

g4 QS 63 - 68 AR FeRANIRT :

@¢ Ggea Q@ AITag, §98 610G I9° Q663Q
QI gGFNQ @QAE | 5] FQae oF
RIRYe 99 e @ |

6@
15

12|4)10
8 19

20

_-giaiat

18K

63. 6919 gIAQIQIT QowI 266 |
(A) 20 (B) 43

(C) 39 (D) 24

64. dIAQIQA1 R6RIRYQAITQ 6LRIAT T°HYI
aee |

(A) 8 (B) 4
©) 12 (D) 10

65. 329 691 gl Q6|

2166 |
(A) 10 (B) 4
© 9 (D) 20

66. 69RIQ 62190 Faga QI A°§lyi
aee |

(A) 10 B) 9
© 8 (D) 20
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67. No. of literate villagers who are
unemployed is . |
A) 9 (B) 4
© 12 (D) 10

68. Total no. of literate villagers is

(A) 12 (B) 13
(C) 23 (D) 17

Direction for questions 69 - 74 :
Complete the series choosing the correct
alternative from among those given below :

69. Problem figures :

67. 6921 g AN gl LI

26Q |
(A) 9 (B) 4
C) 12 (D) 10

68. 671¢ QPR QAU Q°Gtl

266 |
A) 12 ' (B) 13
(D) 17

© 23

gq QY 69 - 74 QIR FELENIR
Q0] Fef A AR AN agd @9 |

69. 94 YW :

@@

2®

. _ @ ?
clelelE

(1) (2) ®) (4)

a . @@ |
cleole

(1) 2) ®) 4)

@A @ ®) @A @ B @
© 3 (D) (4) < O O @
70. Problem figures : 70. 94 QY :
JooloMeloolllool * || 1lsololalmollllao] °
oolouno|ao 0o gojounojoo oo

Answer figures :

ool [l o5 [Jso

1) &) 3) 4)
(A) (4 (B) (3
© @ (D) ()

SMM-1-2019-20

QeeR 2GS :

ool {2l oo [Jso

(1) (2) 3) @)
(A) ) (B) (3
© @ O) @)

15




71.  Problem figures :
AR RR|
Answer figures :
(1) (2) 3) 4
(A) (@) (B) ()
© @ O M
72. Problem figures :
JOgg -
Answer figures :
(1) (2) (3) (4)
(4) (1) B @
© O D) @
73. Problem figures :
S > —O ?
Answer figures :
i
(1) ) 3) 4)
(a) (@) B (2
© @ D) @
16

71.

72.

73.

dq 2190 :
AR |R|AR| -
28R RS :

@ @ ®) (4)
A @ ‘ (B) @)
© @ @) ()
dq aIQe :
JOg0 -
28R 2P :

(1) () ©) (4)
Aa) @ B @
(&) (D) @
d9q Qe :

?

4
280 AP :
<_‘

Y

@ @) €) 4
(A) @) (B) (2
© @ D) @
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74. Problem figures :

&

74. 94 UKW :

SMM-1:2019-20

D | KD
| Angwer ﬁgures':" e T eeR aIQE :
DRI | DRIED
o @ o6 @ mw e e o
@) @ ® © @) O ® ©
- © 6 D) & © © D) @
gDirectio;x{‘s“ fdr,questionsvs -78: | 99 Q8 75 - 78 QIY FERAIR :
Choose the figure which is different from the 60Q §8F AMNAILGOIR &%, 'Fig €I |
rest. ‘ :
BIx =] A ——Ax oF Al|B[x =] A = Alx o+ A
lo +jo +|x +|O Alo = o +lo +|x +|O Alo =
A [= x O = X A |= x 0] = X
1) 2 ®) ) () 0 @) ©) @ 06
@A @ ® @ a) 1 B @
© © (D) 4 © © D) 4
76. ‘E. ole ® oo .0 76. ‘:0 ole © ol® ..
. .©. . < u .. _ L .K-:—/ ..©. 4 l.\) .\._r_l. .\—:_/
() B V4] €) ) ©) ey 2 3) ) ©)
A .(5) B @ (A) ) B) @
© 3 D) @ © G O @
17




77.

(1) ) G @ ©)
(4) @) (B) ()
© 6

(6

O G @ ®)
(A) @) B) (
© 6 D) )

Direction for questions 79 - 83 ;

Identify the figure that would go in the place
of 7.

79. Problem figures :

AN

Answer figures :

Al

(1) e 3) (4)
(A) @ B @
© ©) D) @

18

(6

ge QI 79 - 83 QIR FERANDRT :
7 AI96R 699 §Q 999, VIl Y |

79. 99 A0 :

A

AN

Qe QY :

-+ || X || X

(1) v (3) (4)
(A) (1) (B) (2
(D) @)
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80. Problem figures:

DA
\ LD
Ol

Answer figures :

AllBA A

(1) (2) 1€
(a) @ (B)
© G (D)

81. Problem figures:

O|O

AR
\J

olo

?

O

Answer figures :

(4)
2)
4)

|/ O O] [0
O
o ol N O ~N O
M ) €) @)
Aa) @) B @
< G D) @

SMM-1-2019-20

80.

81.

=

a4 21Q0 :

A

O)| =4IS>

®

Qe QY :

o)

s

ey (2) 3 (4)
a) ) B @
© 0 (D) (4)
gg Qe :
O|O
O /N
O \
?
O
Qe IR :
O O| |O
O Ol N\ ©) O
1) 2 3) (4)
A @ ® @
© 0 (D) (@)

19




82.

83.

20

Problem figures :

&

9] -

Answer figures :

ckljel |

2R

&

m @ 3) @
A) @) ® ©

© e - D @
Problem figures :

0 m m

0 | 0D |0

M |mo| ?
Answer figures :

[T [ [ [
1) 2 3) @

(A) 4 B ©)
© @ (D) (1)

' 82,

83.

qq aUQd 1.
SIEE
|\|[7]|
]

o0 alcg,@;'.'

ﬂ/:

@ ® @
© © ) @
g4 218

1 1l i

0 | [ | o

0 || ?
Qe ARG :

(00 [ [ (O
@ (2 €) @

A4 @ ® ©)
© @ D) ()
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Direction for questions 84 - 87 :

In the following questions, there is some
relationship between diagrams A and B of the
problem figure. The same relationship persists
between C and D. Find the correct diagram
from the answer figures.

g9 QMY 84 - 87 IR FERSNIR :

FRYe g6oye ggeqea A 8 B q1I6Q 69Q°0Q
28, 9181 C 8 D au6a qa Q@< IQaie |
eRedaIes Mg D 98 A Q9Ys 59 QI8 |

84. Problem figures: 84. Q9 ARG : '
@O ::|(m]:| > || |(@}:|©)]::||m]|:|
(A) (B) © (D) (A) (B) © (D)
Answer figures : QeQ ARG :
3 (|| || O||||® ||| ||O]||||®
@) (2) 3) 4) (1) 2 @ @
A O B @ (a) M (B
© @) D) @ © © D) @
85. Problem figures : 85. 99 2190 :
acizal: O] 2 || el OFf -
(A) (B) © (D) (A) (B) © (D)
Answer figures : | Qe 20 :
CADADAR 1 1CaAP-AD-P C
@) @ 0 @ 1) @) 3) (4) |
A @ ® @ (A) (1) B @
© © D) @ © 3 (D) ()

SMM-I-2019-20
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86. Problem figures :

86. 94 Q0 :

VAN

VAN

(A) (B) © D)

Answer figures :

Q|ih

1) (2) ®) (4)

(A) (B) © (D)

280 2199 :

D

(1) (2) ®) (4)

(a) @ (B) (2 (a) (1) B (2
© D) @) © O (D) @)
87. Problem figures : 87. 99 AT :
FTELEKMEY ? FTELERIKME ?
(A) (B) ©) (D) (A) (B) © (D)
Answer figures : QeQ QP :
MK {KNJNK[{{AN MKIIKWN||WNK||I AN
@) ) ®) (4) (1) 2 3) (4)
(A) @ B @ (A) @ B
© O ‘ (p) “) © © D)y @)

22
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88. How many triangles are there in the
figure ?
X
Q
O
Y P Z
A) 9 (B) 10
© 1 (D) 12
89. What is the minimum number of colours
required to colour the following diagram
without the adjacent faces having the
same colour ?
(A) 3 (B) 4
© 5 (D) 6
90. The number which is opposite to side 3 is

PR

(A) 5 (B) 4
C) 6 (D) 2

-00o0-

SMM-1-2019-20

88.

89.

90.

P9 5Q6a 67lIC 6REOIT GYR QFB ?

X
Q
©)
Y T z 7
(A) 9 (B) 10
Q- O 12

S

gAY 29l 6999Eq AR A0 AR oR |
9efq a9 QA AR AR 6601 Q°F
AIQNR 629 ?

(A) 3
© 5

(B) 4
(D) 6

3 Q 30916 AIgeq Aal QT

PeE

-000-
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Sliding friction depends on which factor ?

(A) Actual area of contact
(B) Weight of body

(C) Velocity of body

(D) None of the above

Which of the following is the speed-time
graph of a body moving with uniform
speed ?

(A)

Two plane mirrors are inclined at an angle
60°. Then, what will be the number of
images formed when an object is placed
in between them ?

(A) 6 B) 5

< 3 (D) 10

SMS-11-2019-20

Gad1 ada 3qaue 6ad Qe aUca Fee
@6Q?

(A) 9]0 Q2 68xae

(B) 9ge 68¢

(C) <ga aded

(D) QU6QI8 FIY 6RLE 6L

376 SHIIRASI AAA-696 GIE, FRIQ 6966
QAR CROER 616 RQAR! YR AT ?

(A)
t
4\
0
®
t
v
©) S
t
0
(D)

Qa0 areR @da AUER NG 6RIE 6263
60° 1| 6QAIRE FRIGR IR 9 QYA 6Q60IT
gosa qQf eae ?

(A) 6 ®) 5
€ 3 (D) 10




During day time by which process
seashore air flows from water mass to land
mass ?

(A) Conduction
(B) Convection
(C) .Radiation

(D) None of the above

According to brightness of body, which of

the following part of eye expands and
shrinks ?

(A) Cornea
(B) Iris
(©) Pupil

(D) All of the above

Which of the following relation is wrong ?
(A) Force = pressure X volume

(B) Momentum = mass X velocity

(C) Work = force x displacement

(D) Force = mass X acceleration

Which of the following substance is bad
conductor of heat ?

(A) Water (B) Air

(C) Mercury (D) Oil

@9 6ORI ALQYRER FRRNIGG RG] LR
609 g&2I6a 98 @6 ?

(A) <Qeee

(B)
© <

Q
)

e

D)

QR

(D) QUERIS F1RIG 60R6 Q65

QgR QYA AQAIER FYQ 689 2°d JAURE
Ql AGEe 6212 ?

(A) Qg 969
(B) AR
(C) gae

(D) Q0618 F1RI6Q ARYLR

FIRGS AP RIQ 6895 M 26E ?
(A) 9@ = Qlg X ZIgew

(B) Q6@ = 9gq x adsed
€) @by = 9@ x Jgae

(D) 9% = 9gQ XQ9d

DIAYS 699 9918 vIaa QAL TG ?

(A) &¢ (B) €ef
© aee (D) &om
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10.

11.

12.

How much time will be taken by a 200 m
long train crossing a bridge of length
1000 m with velocity 30 m/sec ?

(A) 30 sec (B)
(C) 40 sec

35 sec
(D) 60 sec

During reflection of light which property
changes ?

A)
(B) Frequency

(C) Wavelength

(D) None of the above

Velocity

Electrolysis is based on which law ?
(A)
(B) Ampere’s Law
(C) Faraday’s Law
(D)r Pascal’s Law

Newton’s Law

Product of force and time is :
(A) Mass (B) Momentum
(C) Pressure (D) Velocity

Direction of electric current is opposite to
the direction of flow of whom ?

(A)

(B) Neutron

Proton

(C) Electron
(D) None of these

SMS-I1-2019-20

10.

11.

12.

4@ 200 m @A 389 689, 1000 m A 33g
8eQ 30 m/sec RERFER UGRE RRAAY

6@6e A7G RUTQ ?
(A) 30 sec (B) 35 sec
(C) 40 sec (D) 60 sec

2I6RIRR TR ANAER 624 60 TR
afeae A6e ?

(A)
(B) aQ@

aQ6e

(C) o 6ddy
(D) QU6QIs FIQ 6RaE Q6L

394086qud 64 Gar eaea ady 62de?
(A)
(B) 2ifiges Fad

Faoes Sa9

(C) aIQIees Faa

(D) QRS Fad

QR 6 ANGR YETR 6208 :

(A) <99R (B)
(C) o@ (D) @aded

60!

QQyQ 69100 Q9 H6qI8 Flri QIRIQ TS
Qoq goIe ?

(A)
(B) @egR

6916

(C) SERQER
(D) 6@a¢ Q62




13.

14.

15.

16.

17.

18.

Which of the following is the formula of
Sulphurous acid ?

(A) H,S0, (B)
(©) Hy50;

H,SO,
(D) H,SO;

Which of the following is used to make fire

proof cloth ?
(A) Bakelite (B) Acrylic
(C) Formica (D) Melamine

Which of the following can be beaten into
thin sheets ?

(A) Zinc (B)
(C) Carbon

Sulphur
(D) Iodine

Which of the following is not a noble gas ?
(A) Helium (B)
(©) Radium

Xenon

(D) Radon

Which of the following is a thermosetting
plastic ?

(A) Polythene (B)
(C) Nylon

P.V.C.
(D) Bakelite

The lowest temperature at which a
substance catches fire is called :

(A) Combustion temperature
(B) Boiling temperature
(C) Ignition temperature

(D) Inversion temperature

13.

14.

15.

16.

17.

18.

FIRYO AUQ 6RaG INCYQD ZfQ 6RO
&ee ?

(A) H,S0, (B) H,SO,
(©) H,S,0, (D) H,SO,

PINYS RIQ 6RREQ AFFCARIR FAP g2

QRUAN ?
(A) 66RRIRe (B) 9EQR
(C) afiel (D) 6ARINIRR

FIRYe 6audq dfem 92l UeRl 99068
9840 9 ?

(A) <@gl (B)
©) aTae (D)

oeQ
UCASR

FORYe g 6eat @ 780 QU Q6s ¢
(A) @Raq (B)
(©) ea¥an

6e0R.
(D) QUeR

FIRNYS 6@as c199e QTR ace ?
(A) aRae (B) d.e.4.
(© feae (D) 696QRIRG

a8eq dal daeel Al a9Fe elaniglg
@’§ Qelang ?

(A) @29 GIHAIgI
(B) 6% QaqIg!
(C) g elaIgl
(D) 29Q7d QGG
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19.

20.

21.

22.

23.

By which of the folloWing reactions in Sun,
heat and light are produced ?

(A)

(B) Nuclear reaction

Chemical .reaction

(C) Combination reaction
(D) Redox reaction

Which one of the following isotopes is used

as fuel in nuclear reactors ?
(A) Uranium (B) Cobalt

(©) Iodine (D) Chlorine

Cellulose is made up of a large number of
units.
(A) Maltose (B) Galactose

(C) Fructose (D) Glucose

Which of the following is formed by
reacting dry slaked lime with Chlorine ?

(A) Baking soda

(B) Washing soda

(C) Bleaching powder
(D) Marble |

Which of the following metals is stored in

Kerosene ?

(A) Sodium (B) Magnesium

(C) Zinc (D) Calcium

SMS-11-2019-20

19.

20.

21.

22.

23.

QAo 6ew gogal Qeiauea gdy, 19 6
Zicaia Q8 @6a ?

(A) QAR gogal
(B) @I8Q@Id go]al

(C) <L6qas gogal
(D) QRIRE-R1Q8 oKl

20Ad0 69 ARCACHIY YIRIAR QUIYRER
RI6RE Q6T QUORIR @RIAN ?

(A) geekan (B) 6@IQI%,

(C) UEAGR (D) 6QIAR

Qe Qe 4RI AAIRIQEY,
66N, IR 4T cRARAN |

(A) QIRETIR (B) SINEQR
(C) geqie (D) Q6aIR

§u6die gf 906 6QIA0a QAT Aog o
Qe @’4 @ge 29 ?

(A) Q9 6QIQ!
(B) &UIRQ 6QiC!
(C) ]%° gleea
(D) 9w

RIRYC 62RUIQY F6AUTRER QBN QST

(A) 6QFAe (B) queg@aa

(©) el (D) <IRdaa



24.

25.

26.

27.

In which of the following category moulds
are included ?

(A) Bacteria (B) Protozoa
(C) Algae (D) Fungi

The causative agent for yellow vein mosaic
disease of lady’s finger is a/an :

(A) Air borne fungus
(B) Insect borne virus
(C) Water borne bacteria

(D) Air borne bacteria

The fuel that is least harmful for the
environment is :

(A) LPG (B) CNG
(C) Diesel (D) Gasoline

For Cloning of Dolly, which type of sheep
was used for collection of ovum ?

(A) Fin Dorset
(B) Arkha Merino
(C) Scottish Black face

(D) Leicester Long wool

24.

25.

26.

27.

Fel6a QARSI FAUGYFTR FRICR RS
6RQ56R 2GS ?

(A) <Qeig - (B) a&@gién
(C) 6dQl@ (D) <o

60dQ 2002 69R 6AIPER TR QG
6208 99 :

(A) QIQQ[@O QR
(B) @6Q@e oI
(C) @R NI

(D) QIgQIEe QIwig

69Q RI6RdE afced aig A901Q @
FORINR 019l 6208 :

(A) LPG (B) CNG
(C) Ceam (D) QueaIRR

°R 6QI7° AR 69R g 6018IQ Sa1g gL
UCLIRBAM ?

(A) @ sele6ae
(B) Qs eadeq
(C) 2%q Qe saq

(D) @R6AQ AT an
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28.

29,

30.

31.

The organism popularly known as Water
Silk is :

(A) Yeast
(B) Spirogyra
(C) Aspergillus

(D) Zygomycota

Which of the following is not applicable
for manure ?

(A) It increases water holding capacity
of soil.

(B) Tt increases population of beneficial
microbes.

(C) Itaddslarge amount of humusto the
soil.

It carries more nutrients than
fertilizer.

(D)

Which type of cell(s) is attacked by HIV in
the body ?

(A) T-cell
(B) B-cell
(©) R.B.C.

(D) Macrophages

The number of Carbon atoms present in

one molecule of deoxyribose sugar is :
(A) 3 (B) 4

(C) 5 (D) 6

SMS-11-2019-20

28.

29.

30.

31.

gioe 3% QIR 9ATe 89l @190 6268 :

(A) @
(B) QRCAUCIAR
(C) QAWERQ

(D) QIRESINASRIS

GaRge 6ea 31616931@01{5 gy g6¢ ?
(A) @GS eRINE A9 QE@6R |
(B) 42! QUSIG! BYLINET A3 QRRER |
(C) <2l 240 afAIg QF @} |

GFica QIAINGe AR 216981 28R 619
oRaN |

(D)

d010Q 699 dela 6219Q HIV Igad
QAN ?

(A) T-cell
(B) B-cell
(©) RB.C.

(D) €I6RICTERQ

QIS BEFARERIR. JAIRER 66T QR
Ug Q& aa ?

(A) 3 (B) 4

C) 5 (D) 6




32.

33.

34.

35.

36.

10

In the hierarchy of classification, which of
the following is included in class but not
in the family ?
(A) Sub-species (B) Species
(C) Genus (D) Order
Which of the following is not a Stem ?

(A) Carro£ (B)

Potato
(C) Ginger (D) Turmeric
Matrix of blood is called :
(A) Plasma (B) W.B.C.
(© R.B.C (D) Fibrinogen

The eye of a person looks blue in colour
because of :

(A) The colour of the pupil is blue

(B) The colour of the iris is blue

(C) The cone cells are blue in colour

(D) Aqueous humour is blue

The difference of sum of even numbers and
sum of odd numbers between 10 and 20
is:

(A) 12 (B) -12

€ 15 (D) -15

32.

33.

34.

35.

36.

dAQRACR  F6CIY QHrRIQ 6 cgdiea
U, 41 °96Q UIYS Q6F ?

(A) a-918 (B) «1©

€ g« (D) <@
T6qI8 2AAIRS 1Ig 6986 Qg Q6 ?
A) diIea (B) &g
© aal (D) 291
o86a dQl AuIGeR AT c2ad :
(A) Qe (B) 640 a8 8!

(C) enige a8 @8 (D) TIRG6RIERR

@68 I3 AIFe @°9 Q19 o QARIAQ
REE :

(A) 67g el 919 26e |
(B) QNBQI 919 26T |
(C) 6Q1eq 6AR 1@ QTR |
(D) N9 Q% Qe 1R |

10 @ 20 A6 QN A8 Qg IR AN G
Q18 UYY QIR AN§ e 89l 219ad

(A) 12 (B) -12

(© 15 (D)

=15
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37.

38.

.39.

40.

(©) 80°

What decimal of an hour is a second ?

(A) 0.0025 (B) 0.0256
(C) 0.00027 (D) 0.000126

If the supplement of an angle is 4 times of
its complement, then find the angle.

(A) 50° (B) 60°

(D) 100°

One of the exterior angle of a triangle is
72° and its interior opposite angles are in
the ratio 4 : 5. The angles of the triangle
are :
(A)

50°, 28° (B) 30° 42°

(C) 28° 44° (D) 32°, 40°

Which one is possible to have a triangle
from the following measure ?

(A) 6cm,3cm, 2cm
(B) 5.5 cm, 2.5 cm, 25 cm
(C) 3cm,6cm,7cm

2 cm, 8 cm, 3 cm

(D)

SMS-11-2019-20

37.

38.

39.

40.

49 6A6RE @ T9IQ 6960 F6T@ UCE ?
(A) 0.0025 (B) 0.0256
(C) 0.00027 (D) 0.000126 -

Q9% 66ITe 6aI96a dRGae SRR ALY
66 4 98 24, 6969 6RIER ORI Bda,
@ :

(A) 50° (B) 60°
(C) 80° (D) 100°

6915 G990 1@ QP9 cRIde admg 72°
8 2IQ UG S8R €RIEQAQ AR 4:5
260, 6REQPAQ ARAIET :

(A) 50°, 28° (B) 30°, 42°

(C) 28°, 44° (D) 32°, 40°

Geqie AR AUq 6RAFq Cae
621001 ?

(A) 6cm,3cm, 2cm
(B) 55 cm, 25 cm, 2.5 cm
(€) 3cm,6cm,7cm

(D) 2cm,8cm, 3 cm
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41.

42.

43.

44.

12

Find the area of the parallelogram ABCD
where AE=16 cm, AD=20 cm and
AF=12 cm.

A F B
L

D E C

(A) 262 cm? (B) 384 cm?

(C) 192 cm? (D) 131 cm?

Area of AABC is 18 cm2 If D is the

midpoint of BC and E is the midpoint of
AB then the area of the ABDE is :

(A) 9 cm? (B) 5.5 cm?

(C©) 3.5 cm? (D) 4.5 cm?

If the wages of 15 workers for 6 days are
¥ 9450, then the wages of 19 workers for
5 days is :

(A) T 9978 (B) ¥ 9976

(C) % 9975 (D) % 9970

The price of an article is reduced by 25%.
In order to retain the original price the

present price has to be increased by :
(A) 20% (B) 27%

C) 33%% (D) 45%:%

41.

42,

43.

44.

ABCD Qi€123@ 68996 cAQTR @Qﬂ@ @
dield AE=16 cm, AD=20 cm 49°
AF=12 cm €66 :

A F B

U

DE C
(A) 262 cm? (B) 384 cm?2
(C©) 192 cm? (D) 131 cm?

AABC @ 688a@ 18 cm? 266 | 98 BC
PR (Y FQ D 8 AB Qige ouIg 3¢ E
29, 6962 ABDE Q 68QUe6 6960 ?

(A) 9cm? (B) 5.5 cm?

(C©) 35 cm? (D) 4.5 cm?

4?15 @4 §4eea 6 deq A& T 9450
24 6969 19 R4 g9eea 5 dea QA
6R6Q :

(A) T 9978 (B) T 9976

(C) T 9975 (D) T 9970

601G 0TQ QQ 25% QAR | dQe oag
4a adiel aQ QdAIR 908 RN ARdS
ARG 2106 ?

(A) 20% (B) 27%

(©) 33%% (D) 45%:%
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45.

46.

47.

48.

49.

A certain distance is covered at certain
speed. If half of the distance is covered in
double the time, the ratio of two speeds is :

(A) 4:1 (B) 1:4
(© 2:1 (D) 1:2

At what rate percent per annum will a
sum of money double in 8 years ?

(A) 10.5% (B) 12.5%
(C) 14.5% (D) 16%

A can build a wall in 30 days while B alone
can build it in 40 days. If they build it
together and get a payment of X 7000, then

B’s share is :
(A) 2500 (B) 4000
(C) 4500 (D) 3000

The range of the data 21, 6, 17, 12, 18, 8,
4,13is:

(A) 17
©) 8

(B) 12
(D) 15

For which of the following is m=8 ?

-3
(A) 5™ x '557 =53

—2
(D) 57X %— =52

SMS-11-2019-20

45.

46.

47.

48.

49.

e P9 QaQQ IR €d6R g QaUaRl |
a8 26d@ Q0Q] ANAR RYE 69496a QI
QAUAN, 69094 ARAIeT :

(A) 4:1 B 1:4
< 2:1 (D) 1:2

099! QI8e 6a6e 21aeR 1R FGY AR
8 edea §-q9dc 62 ?

(A) 10.5% (B) 12.5%

(C) 14.5% (D) 16%

A NQ @189 30 Grca FdIa @A alsa
6060696 B ¥QGal 01 40 dqea Rdg
Qhalea | €8 eed cadeieg dla @d
T 7000 Q1213 6062 B @ RUGT -

(A) 2500 (B) 4000
(C) 4500 (D) 3000

21, 6,17, 12, 18, 8, 4, 13 Q2@ 6Q°F :

(A) 17
© 8

(B) 12
(D) 15

F66)I8 RIG 6996 AR m=8 629 ?

573 3
(A) 5™ x —57— =5

3
B 57X ':Tet =5
2
© 5™x %3— =53
52

(D) 5" x =5

13




" 50.

51.

52.

53.

54.

14

(©) 800

Which of the following”: is a correct
representation of binary number ?

(A) (1210), (B) 1110

(C) (1101)2 (D) (0000),

The circumference of a circle is 641. Then

the area of the same circle is :
(A) 604w cm? (B) 10241 cm?
(©) 10501 cm? (D) 512w cm?

If A=(2,4,56), B=(3, 4,78}
C=1{5,6,7, 8} then C—{AUB} is :

(4) {247} (B)
© ¢

{3,4,5}
(D) {5,6,7,8)

- If at same rate of interest in 2 years the

simple interest is ¥ 40 and compound
interest is T 41, then the principal in rupees
is

(A) 500 (B) 400

(D) 820

The radius of a circle is 6 cm. The
perpendicular distance from the centre of
the circle to the chord which is 8 cm in

length is :
(A) 5 cm (B)
€ 3cm (D)

35 cm

25 cm

50.

51.

52.

53.

54.

3660 FAARA FRRYFR IR 6QGE

Qe AW Uee ?
(A) (1210), (B) 1110
(C) (1101)2 (D) (0000),

6615 Q8R AR 64 B6E | 696@ 68
QeR CARURT ?

(A) 6047 cm? (B) 1024w cm?
(C) 10507 cm? (D) 5127 cm?

Qe A={24,56), B={3,4,7, 8}
C=1{5,6,7 8} 249, 6069 C-{AUB}
640G :

A) {2,4,7) (B)
© ¢

{3,4,5}

(D) {5,6,7, 8}

9% 2 I 4614y RIREQ AR QoI T40 6
e G X 41 29, 6969 FRURER aqaig
o@ :

(A) 500 (B) 400

(C) 800 (D) 820

6015 QRQ QUIAIT 6 cm AT, LA QY
e @I, IR 636y 8 cm, 98 ASE afa
Q001G Q60 ?

(A) 5 cm (B)
(€ 3m (D)

3,/6 cm

25 cm
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55.

56.

57.

58.

59.

The sum of three consecutive multiples of
7 is 357. Find the smallest multiple.

(A) 112 (B) 116

() 119 (D) 126

Name the Somavamsi king of Utkal who

was defeated by Chodaganga :
(A) Yayatil (B) YayatiII
(C©) Karnadeva (D) Janamejaya

Who was the founder of the Slave
dynasty ?

(A) Qutbuddin Aibak

(B) Balban

(C) Babur

(D) Akbar

Who completed the construction of
Qutb Minar ?

(A) Balban

(B) Samudragupta
(C) Qutbuddin Aibak
(D) Itutmish

In which year, the Second Battle of Panipat

was fought ?
(A) 1526 (B) 1556

(C) 1757 (D) 1761

SMS-11-2019-20

55.

56.

57.

58.

59.

7 @ géioe 96alc afie Qaua ang 357
266 | §or qieat fda e :
(A) 112 (B) 116
(© 119 (D) 126

Q@R 694 6QANX°A QAUSN 6Qlpdaie QI

aQIg cIRdicm ?
(A) g gaie (B) §e1a 91
(@) Q@ﬁ@@ (D) 6989

QI e°aa goaIol &4 dem ?

(A) Q996 URAR
(B) @ReR
(C) <o

(D) 2R

a9 Qoenea RIdY afd edgsR ?

(A) QWK

(B) <9299

(C) Q69Ge URAIR
(D) @RQefq

699 g1aleca §o1a aifad ge q°abe

ciR8RI ?
(A) 1526 (B) 1556

(C) 1757 (D) 1761

15




60.

61.

62.

63.

64.

16

Who had built the Red Fort at Delhi ?

(A) Babur (B) Humayun

(C) Akbar (D) Shahajahan

Who gave the opinion to introduce modern
Western Education in India through
English medium ?

(A) Lord Macaulay (B) James Mill
(C) Elphistone (D) Cornwallis
In which village, Jai Rajguru was born ?
(A) Kakatapur

(B) Brahmagiri

(C) Nuagaon

(D) Bira Harekrishnapur

At which place, there occurred the first
symptoms of the outbreak of the Revolt of

1857 ?
(A) Delhi (B) Kanpur
(C) Barrackpore (D) Lucknow

In which year, there was the declaration

of the “Partition of Bengal” ?
(A) 1757 (B) 1857

(C) 1885 (D) 1905

60.

61.

62.

63.

64.

ORN16e @9 ANRRI FdiE Qddicm ?
(A) Q9@ (B) Q9IgR
Q) RQ (D) <ieIQiele

@9 QAR IR AINIGY VIR GOIR @RS
IR €10 6536 ?

(A) Q¢ QIR (B) 6=aq da

C) adasaie (D) @€QIAQ
091 ANYR 62K FIF6a 29 a8 @fden ?
(A) QRYR

(B) <9

©) QI

Xl

a

T3]
)

(D) <918 260Q8YQ

a6 699 QIREA 1857 F6QILQ RS geaIe
cRIRAMI ?

(A) a1 (B) QIFgQ

(C) <ege (D) @6gl

602 AdeIsa ‘O Faiee’’ 6aIadl

QQIAIRIAQI ?
(A) 1757 (B) 1857

(C) 1885 (D) 1905
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65.

66.

67.

68.

Who is the author of “Social Contract” ?
(A) Montesquieu (B) Voltaire
(©) Rousseau (D) Mazzini

The boundary of which among the
following States in India does not have a

common International boundary ?
(A) Gujarat (B) Haryana
(C) Punjab (D) Rajasthan

Which of the following types of earth
movements is quite slow but continuous ?

(A) Earthquake
(B) Landslide
(©) Plate movement

(D) . Volcanic eruption

Between which two parallels are the
Westerlies very strong ?

(A) 40° North to 50° North
(B) 05° North to 05° South
(C) 05° South to 30° South

(D) 40° South to 50° South

SMS-11-2019-20

65.

66.

67.

68.

“cadam agIQ’’ 99ea Qedol @9 7
(A) ©68q (B) 6RURCIOR
(C) qssi (D) Qi@

QSR F67I9 6RIAIRT AUR QIR
QIFIEas 6wad A IOR ANCAH AP A°YS
Q6@ ?

(A) geals (B) eQdl
(© asiQ (D) «iegle

F69I9 629 9RIQ o9 88 e @Y
foege 7

(A) gfied

(B) @9

(C) 696 o
(D) aq eedad

699 QAMIFEQE QAU ARG Y
38N ? \

(A) 40° @8QQ 50° Q@9
9

(B) 05° @aeQ 05° @34

(C) 05° @f4q 30° @&

(D) 40° @R49 50° @&

17



69.

70.

71.

72.

18

Which of the following currents flows in a
different ocean than the other three ?

(A) The Agulhas Current
(B) The New South Wales Current
(C) The Somali Current

(D) The West Australian Current

At what degree is the temperature in
Fahrenheit and Celsius scales equal ?

(A) -40° (B) 0°
(C) 32° (D) 100°

‘Flowing water that remained unutilised
so far’ - What type of resource is this ?

(A) Developed resource

(B) Potential resource

(C) Reserve

(D) Stock

Identify the odd one out :

(A) Kumuri (B) Kuruwa
(C) Penda (D) Roca

69.

70.

71.

72.

76019 609 69198 ARy F6RIGOIQ AR
dQ6Q JI@e caIRarg ?

(A) a9 619
(B) @@ died 6gad 6419
(©) Qi@ 64IQ

(D) 9990 &eg@2 6qIQ

6R60 @G16Q ARG TERRILING 8 cARTaA
YQQQ QAR AR 6L1R8IN ?

(A) —40° (B) 0°
C) 32° (D) 100°

‘9eIRe 99 QI 1 adie MR 6RIRAIRRIR’
- 92| @ g9IQ Q9e ?

(A) QQde Qae
(B) oge Qae

(©) <refe aae

(D) Q9% @€
QAT R :
(A) QI (B) <14
(C) saal (D) el
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73.

74.

75.

76.

77.

Which among the following eco-systems
has  the
productivity ?

maximum biological

(A) The Equatorial Forests
(B) The Taiga
(C) The Temperate Forests

(D) The Tropical Grasslands

Which of the following metals is

extensively used in the modern

industries ?
(A) Aluminium (B) Chromium
(C) Copper (D) Thorium

Which one of the following is known as

the “Electronic City of India” ?
(A) Ahmedabad (B) Bengaluru
(C) Hyderabad (D) Pune

When was Indian National Congress

established ?
(A) 1857 (B) 1875

(C) 1885 (D) 1887

In which year Quit India Movement was

launched ?
(A) 1919 (B) 1931

(C) 1945 (D) 1942

SMS-11-2019-20

73.

74.

75.

76.

77.

76919 AR AARS )G 6R0Fa 633
QQIee 2918 ?

(A) T Q&Y

(B) <lagl

(C) @Ba60I8 ARG

(D) Q118 Qg

2ARIFR d96a F67I8 629 QR QR
MQLIR 62QUT 7

(A) agddan (B) exidan

(C) enl (D) eaIQAe

76918 6200q “RIReR RERAQY.F1R FeR”
€M QLI ?

(A) LAQIQIQ (B) 69a1QQ

C) 2RAUAR (D) 9s&

NANGIA PRIV F°66Q 662 gOFe c1RdMI?

(A) 1857 (B) 1875

(C) 1885 (D) 1887

6ea Adelea QUAVRIY ARINY QAR

cRIpdial ?
(A) 1919 (B) 1931

(C) 1945 (D) 1942
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78.

79.

80.

81.

82.

20

Who was the President of the Constituent
Assembly of India ?

(A) Dr. BR. Ambedkar

(B) Dr. Rajendra Prasad
(C) Satchidananda Sinha
(D)

Harendra Kumar Mukharjee

When did the Constitution of India come
into force ?

(A)
(B) 26th January, 1930
(C) 26t November, 1949
(D) 26t January, 1950

15% August, 1947

Which part of the Constitution is related
to Fundamental Duties ?

(A) Part IVA (B)
(C) PartIlI

Part V
(D) PartIV

Which Article of the Constitution provides
for Right to Education ?

(A) Article 19 (B)
(C) Article 22

Article 21(A)
(D) Article 23

Which day is observed as International
Human Rights Day ?

(A) 10t December
(B) 24th November
(C) 24th October

(D) 26t January

78.

79.

80.

81.

82.

NURER AUIR LR ANNQ ANUS @9 Aea?

(A)
(B) ©Q9 Qeeg daie
(C) QEeee dg

(D)

QR 3.2IQ. U6

2608 IR SIS

QUG TS 6R6Q0Iq AN 621 ?

(A) 15 268, 1947

(B) 26 ®IgaIa1, 1930
(C) 26 968AQ, 1949
(D) 26 RQAIA1, 1950

QYUK 609 Ald 66170 @AY a9
aAFe ?

(A) ®6 0Qd @ (B) g as¢
(C) wIo Qo1a (D) «I9 ogd

UG AAINQ 609 AR 81 AT R2I
29 ?

(A) uIei 19 (B)
(C) el 22

ARl 21(R)
(D) el 23

6@e @9a8Q 2LFIBe A adeq §eq
Q6 CIPR QAUAN ?

(A) @62a8 10 0Qd
(B) 96wAa 24 Q1A
(C) ueqIea 24 QIR
(D) eIQaa1 26 QA
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83.

84.

85.

86.

87.

Who convenes the joint session of Indian
Parliament ?

(A) The Prime Minister
(B) The President
(C) The Vice-President

(D) The Speaker

At what age the Judges of the High Court
retire ?

(A) 62 (B) 60

(D) 65

Under which article of the Indian
Constitution President’s Rule can be
imposed in a State ?

(A) Article 352 (B) Article 356

(C) Article 360 (D) Article 354

What rank does India occupy in the world
with regard to the size of Population ?

(A) First place (B) Second place

(C) Third place (D) Fourth place

The major sources of irrigation in India

are :
(A) Canals (B) Tanks

(C) Wells (D) Tubewells

SMS-11-2019-20

83.

84.

85.

86.

87.

A9 Qee1s aeq 76 ad6ede AIgIe
Qa8 ?

(A) Qe
(B) QEAG
(C) @9-Ugad

(D) <QIo98

6@% QOQ6A 2RCAITER FSIATAISH AR
Qaa? |

(A) 62 (B) 60

(C) 58 (D) 65

RO LRI 614 1Al AFLAER QUMER
QAULAG 4IAR IR IR ARAQ ?

(A) QI 352 (B) QI 356

(C) IRl 360 (D) QI 354

SR 2R ARG TG 694 A1 AT
QR ?

(A) daq Qe (B) @o1a Qe
(C) 9919 gie (D) ©Qd Qi@

QAAGER FR6ARR JI¥ 2L canl :

(A) 6eaIR (B)

©) ¢

gqagen

(D) f°Q¢

21




88.

89.

90.

22

Green Revolution refers to an

unprecedented improvement in the :
(A) Agricultural Production

(B) Industrial Production

(C) Tree Plantation |

(D) Pollution Control

Which one of the following is not a natural

resource ?
(A) Land (B) Dam
(©) Water (D) Minerals

The process of economic development that
maintains environmental balance is known
as :

(A) Human Development
(B) Sectoral Development
(C) Economic Progress

(D) Sustainable Development

-00o0-

88.

89.

90.

Qe JGe AgRFe crute ageqe Qfg
Q€I ?

(A) QS6c8ge QqIee
(B) 496889 QIR
(C) olIeRAE

(D) 99848 Fa°gE

@7Qd0 6Red @ gIQEe AN Q6T ?

(A) 94
C) e%

(B) <%

(D) «deeey

IR 2EQE gLl Qe 969860
AQQAITY QI QFiEN, FI9IQ @€ QRIAN ?

(A) QIR UVQER
(B) 69g1a 2AQQ®R
(C) udMGe ged

(D) Qg ARQLE

-00o0-
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